Name: Period:

Daily Math

© AKA-Do It Now, Independently ©

Materials Needed:

1) PENCIL
2) Colored correcting pen (NO black ink}

EXPECTATIONS:

1) Completed homework/assignment (or Marks if not done) out on desk, ready to be
stamped.

2) Do one page {two math minutes {20 problems)) each day in pencil.
a. Be ready to correct when timer hits 0:00.
b. NO calculators on daily math minute problems.

3) Whenfinished, put pencil away and take out colored correcting pen (no black ink).

4) Correct Minute Math with COLORED PEN only.
a. Pencils out while correcting will result in a zero.
b. Mark incorrect and write in correct answers with colored pen.
c. Points can be earned back if you explain your mistake/communicate understanding
of mistake & illustrate how to do correctly.
d. Evidence of correcting must be clear (if you had zero errors write -0 or 100% at top of
minute math)

5) RECORD each math minute score on the daily Minute Journal page, every day!
a. This is your raw score of number of correct problems.
b. Your teacher will give points back in the gradebook based on how well you
communicate comprehension of your errors in colored pen on the minute math.
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Circle the set of lines that are parallel. i

Write these decimals.in order from least to greatest.  0.403  0.034

Write the fraction that represents the shaded boxes.

5+D=12

Complete the pattern: 1, §, 9, 13, .

What is the area (number of squares) in the rectangle to the right?

(43
-

According to the chart, how many desks are in column A? §
S
i
E
3
z

9x4=

9x7=

9x9=

7128 = 7)42 = 7)63 =

" Circle the number that has a 4 in the tens place. 324 24 4,321

=N WwhO

4

49

0.340

ABCD

¢

\
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/. If you flip a coin 10 times, how many times will it land on heads?
a. 10 b. 5 c.2 d. impossible to tell

2, Which shape is a pentagon?
‘0 0 T O

Write the fraction for each:
Two-fifths =
Three-fourths =

w

Write the fraction that represents the shaded boxes.

O A

3x4+4=

Complete the pattern: 4, 8, 12, 16,

o

N

What is the perimeter (distance around) of the rectangle
to the right?

%

According to the graph to the right:

A=
B=
C=

3
Il
2
E
S
o)
£
H
g
2
g
]
&
=
g
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If it is 5:32 now, what time will it be 24 minutes from now?

7
How many cubes are in this shape?
Write two fractions that represent the shaded boxes.
. . . . 7 8
Write > or < in the circle to compare the fractions. 5 5

Mel makes arm bracelets. She is making one for each arm of her six friends. How

many should she make? .

Complete the pattern. 2, 4, 8,

Joe wants to build a fence for his dog Charlie. He plans to 101
surround the rectangle to the right with fence. How many
feet will he need?

15 ft.

Favorite Cereals

How many people took part in this survey? 121

S0

5 8

5 6

£ 4
(12)(3) = 3,
(2)(5) = o :
(12¢6) = Brands
50+35= 55+5= 45+ 5=

10




N Mmwre &

4

-

D

I R I R R I I

/, Circle the number with a 5 in the tenths place. 36.05 415 50313 1538

z Which of these shapes is a trapezoid?
00w O

For Problems 3—4, write > , <, or =, Use the bars to help you.

3 :()s
O

24+7)=

N
B
W |

S O

Complete the pattern. 123, 234, 345,

Justin's Garden

N

Justin has 30 feet of fence. Would this be enough to 5 ft.
surround his garden? Circle:  Yes or No

9 ft.

Favorite Brands

%

According to the chart, Brand B was chosen twice as
often as Brand

1+2+3= :
69: 3+4+5= 50%
5+6+7=

/0. 3& 43 26

yri
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The height of a room would most likely be 10

a. feet b. inches c. yards
A
2 Which letter on the shape is beside a right angle? DB
D [
3 L of 20 =
fo2

N

Write as a decimal: two and three-tenths =

o

If the pattern continues, how many boxes
should be shaded jn row D?

OO w>

o

@x3)+@x4)=

What is the area of the shape to the right?

N
u

8, In the chart to the right, the y numbers x]1]2]4
are times the x numbers. RE

/0. 14 23

2
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To build a school, it might take two

-~

a. days b. weeks ¢, years

N

Which letter on the shape is beside an obtuse angle?

3 Which of the following is (are) equal to % ?
a > b. L 10 12
10 14 25 30

4, Write as a decimal: twenty-three hundredths =

5: The library, post office, and gas station are all on Elm Street. The library is three
miles west of the post office. The gas station is six miles east of the post office.
How far apart are the library and gas station?

6. Complete the pattern. A12, B16, C20, ,

7, What is the area of a rectangle with a length of 9 feet and a width
of 7 feet?

For Problems 8-9, use the bar graph to the right.

Ron’s Bowling Scores

8, On what day of the week did Ron
bowl the best?

9, On which two days of the week did Ron
have the same score?

It+43=
/0, 26+ 19=

18+17=

3
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x Which of these shapes does not belong?

[ ] AN «/ 7 AN

D
2 Which letter on the shape is beside an acute angle? DA
[ 8

1
Which of the following is (are) equal to z?

-~

5 7 10 12
b. — c. = .
20 21 40 50

Writc as a decimal: Forty-three thousandths =

O A

Ifa=10and b =6, then a + b = 16. Circle: True or  False.

Draw the next shape in the sequence. O E] @]

What is the perimeter of the shape to the right?

)

N

For Problems 8-9, use the chart to the right.
Test Scores

high as the score for

;
& Which student had the best grade? Desiree £
Marti i

) ) Rick g

.9, Desiree’s score was about twice as s
Dana s

b

10, 366 - 33129 = 3)501 =

4
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Justine’s bill at a restaurant is $14.58. She pays with a twenty dollar bill.
How much change should she get back?

For Problems 2-3, use the diagram to the right.

2

3.
4

C)
6.

For Problems 7-8, use the bar graph to the right. Customers Per Month

7.

8

9.

70.

(@
Which letter is inside the square and pentagon? A c

Which letter is outside the pentagon but inside the triangle?

Write the fraction for the shaded part in each figure below.
A. B.

If 7 out of 11 balloons are red, what fraction of balloons are NOT red?

Complete the pattern: 1,2, 4,7, 11, R

During which month(s) did more than
200 customers visit the store? Dec.

In August, half as many customers visited

the store as in 0 50 100 150 200 250 300

3.6 4.9 12.75
22 34 46
x 4 X § x 6

15
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t Round each number to the nearest ten.
24 = 311 = 107 =

Z Which of the following shapes has a right angle?
ey VAN AN ®
3, Which of the following groups of numbers is in order from least to greatest?

a. 323, 411, 421, 506 b. 108, 106, 217, 304
c. 98,94, 36,29 d. 200, 199, 198, 405

4, Which of the following is NOT equal to 457
a3 x10x2 h.3x3x5
c. l0+10+10+10+5 d.50-5

-
5: 12 x l:‘ = 48
6 C lete tl 1t L23
ete the pattern. —, —, —, .
, omp. p: 32
A B
2 Which shape has a greater area? 5in. 3in. :}
8in. 12 in.
For Problems 8-9, use the chart to the right.
Weights of cars
8, Which car weighs the most? Color | Weight in pounds ]
Blue 2786 :
.9, How much more does the red car weigh than Red 3,196 F
the green car? Green 2,500 5
/0, 1.2 1.4 .
x 0.6 x 0.7 x 0.8

6



mmvre 10

PR R R R I R SR S I SIS I
v

o~

v

L/
4
7l

/, Which of the following numbers is NOT equal to 367
a.4x9 b. 18+ 18 c.40-6 d.10+10+10+6

2, Which one of these shapes has four vertices (corners)?
a. D b. 2 c. i d. O

3 Which of the following groups of numbers is in order from greatest to least?

a. 323, 411, 421, 506 b. 108, 106, 217, 304
c. 98, 94, 36, 29 d. 200, 199, 198, 405
Add 0.4
4, Complete the chart. Start End
2.2 26
3.1
4.7

2w+ -7

o 0

123
Complete the pattern: —, —, =,
3757 A
8
7. Which shape has the greater perimeter? 5cm 3 em
8 om 12 cm
For Problems 8-9, use the bar graph to the right.
Eggs Laid Last Season
& How many eggs did Lucky lay last season?
Lucky
Clucky
Old Red
.9, How many more eggs did Clucky lay Litly i [
than Lucky? Each [ = 25 eggs

-

/0 . ‘ 4.5 7.2
+56

+
N w
o o
n
+
s
=l
8}
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Circle the number with a 4 in the thousands place. 324 421 4321 49

Which of these shapes is 2 hexagon?
0 0 g O

Which of the following is NOT equal to 407
a.4x8+8 b.2x2x5 c. 10+ (5)(6)

372
Put the fractions i ler from feast t atest —, —, —, —.
ut the tractions in order 1rom ieast {0 greaies 8, 3° 8 8
42
If — =7 thenx= . ~
Re
Complete the paftern: 12, 15, 17, 20, 22, 25,

How many cubes would three layers of this shape have? 1

According to the graph to the right:
A=

B=

C=

9e7= 8+ 8= 6+7=
345+7= 4+7+6= 2+9+8=

18
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About how many commercials might have been shown this year during
the Super Bowl?
a. 4 b. 40 c. 400 A

. . . B
Which letter on the shape is beside an obtuse angle? D

Which of the following groups of numbers is in order from least to greatest?
a. 0.312, 0.411, 0.601, 0.806 b. 10.8, 10.6, 31.7, 40.4
c. 0.88, 0.84, 0.76, 0.49 d. 5.00, 3.19, 1.98, 0.755

1122 thenx=
4 8, enx

Anna finished a race five yards ahead of Jack. Jack finished nine yards ahead of
Tina. How many yards ahead of Tina was Anna?

Forty tickets were sold for a lottery. If Lon bought two tickets, what are the chances
he will win?

5 13
What is the perimeter of the triangle? l\

12

Glasses of Lemonade Sold

How many glasses of lemonade

did Rhonda sell? wstn | Q1O | ©|©

Leah @ @

26 Rhonda @ @ @
+32 +4.5
Candice @
Each © =10 glasses.
5,6‘ 6.3
x 10 x 10

19
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t Round each number to the nearest hundred.
i24= 231 = 48 =

For Problems 1-3, use the diagram to the right.

& What letter is inside the triangle and the rectangle c B

that is not in the square?

5’, Which letter is inside of all three shapes?

4, Circle the fraction that is NOT in its simplest form.

1 2 3 2
4 B 8 13
-~
For Problems 56, use the chart to the right.
4th Grade Classes
5-. According 1o the chart, what fraction of the totai Boys Girls

number of students in Reom | are boys? Room 1 12 13
Room 2 15 11

How many boys are in Rooms 1 and 27

N D

3«4+2+2=16 Circle:  True or  False

%o

A car salesman says he will give out a prize one day of next week 1o anyone
who test drives a car. What is the probability that he will give out this prize
on Thursday?

1 1_ 11

‘9, —X=—= EKI— ;xg=
,0. 46 79 B8
=16 16 =16

20




/. In the number 1830, the _is inthe tens place and the

2, Which of thesa shapes besl represents a cube?

3, Cirele the fraction that is NOT inils simplest lorm.

5 5 5 5
1 15 12 1%
4 i-f
r _—=—, en =
3 a5 e
P~ 11720

These four cubes were placed 1o a bag, What
is the prohahility that the dark one would @ @ @

be pulted out of the bag first?

o O

Far Problems 7-8, use the bar graph to the right,

2 Which of the following statements is {are)
true about the graph?
a. A~ 13 =50 b. Cis half of B c. Bis more than A

8, A+ B+ Cis closest to: a, 30 b, 100G e 200

a Change o decimal form.

1
- = 31 - 20l
2 4 2
~
0 = 2, 40 _
' 4 3 §

27
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What is the value in cents of 2 quarters, 3 dimes, and 4 nickels?

N o~

Circle the set of lines hat are perpendicular:

W

Which set of shapes shows two fHigures that are congruent?
&, I:l b €. [

For Problems 4-5, write > , <, ur =,

4 go
10

Complete the patiern: 5.7, 4, 6, 3, 5,

EeRR]
»

0
i ~J

=

S

N

What is the perimeter of a square if cach side is 5 feet?

x| ¥

8, The ¥ numbers in this chart are times the x numbers. 2 110

3415

g 50 275 325 D
- 25 =135 — 75

10 5)155 = 41408 =




,, [ have a | in the ones place, a4 in the tens place, and a 5 in the undreds place.

What pumber am [?
B

2, Which leteer is bestde an acute ang,
D [

Which set of figures shows two shapes that are similar but nat congruent {same size

and shape)?

H.D h.g [ k

4. Which fraction is i the simplest form?

a 5 b’ e 20 a. 12
10 14 25 25
S, sl |-n
6: Complete the patlern. 3, 5,9, 10013, 17, _

7, What is the srea of a rectangle that is 15 teet long and 3 feet wide? |
For Problems 89, use the bar graph to the right. Students in 5th Grade Classes

6’. Aceording to the chart, which class has the sane _
Girls

Boys

amounit ol boys and girls in it?

,9, About how many more girls than bovs does

Class 1 have?

/0, ]‘,'8 14.06 0.0

- 20 — .01 —0.5




t Lileen's bill for ler funch was $7.33 She vave the waiier 510 and told him to keep

the change as a tip. Plow much of a tip did the waiter get?

2 Wihiclh of these shapes bust represents a oy linder?

g = 0

For Problems 3—4, write = , <, or =, Usc the bars to help vou.

3' i

-

S &
)
.
L%
-
T
Il
I
wm

Which shape has a greater perimetsr? T

N

A bali is deopped on the tiles to e right. What are the
chances that it would land on a shaded tile? __

For Problems 8-%, use the chart to the right.

8. Which student gets the largest allowance each Allowances per Week
week? Sandy %
Jared $| S| 8|3
.9. Which student gats S13 each week? Jackie 3]s |3
$ sign = §5
/0. 300 230 450
— 30 =125 — 200

— oy
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Which of these has more days?

a1 month b. 3 wecks e 20 days

All of these shapes have a right angle except:

& D b. {:’ [N h d.g

Pul these numbers in order from greatest to least: 5.06. 5.60, (L056, 0.56.

i
o

. i 1 2
Circle all fractions that arc equal ;: o
. J

It the pattern conlinues, should the last box have
adotin it? Circle: Yes  or Do

d

Which shape has a greater area? 4in

8in

These five cubes were placed in a bag. What is the
probability that a dark one would be pulled out of @ @ @ ]

the bag frst?

1246+ 8= 119+ 5= T+0+ 13-

i5-4-0= 21-10-2= W-6-3-

10in

25
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2
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5,

6.

For Problems 4-5, use the circle giaph to the right.

About how many inches long is this line segment”
a. b, 2 e 12 d. 25

Cross out the three-dimensional shape.

OO 0o

ilow much ef the cirele does region © represent?

1
ts region A more or less than I’,’

Find the number that completes the problen.

-
:i cx = 16%
[fa =4, then 10a=__

If vou rearrange the numbers of the year 2007, what is the largest number you

v make?

(32
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Z Which of these has more minutes?

a. 2 hours b. 2060 minutes

2. 1f you fit these two shapes together, which H:E
shape will you have?
a. b.

3 1.3,

L4
For Problems 46, use the Venn diagram to the right.

Chocolate
5

How many people like chocolate only?

A

How many people like caramel oniy?

Y

How many people like both?

N

1f3x =21, then x =

[

Compiete the pattern. A C E G

©
oy
Lad
_

10 :.3.5- 20203= 24547

gy
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x A state lottery nuight give out ten .. dollars as a top prize.
a. miilien b. bitlion e. {riltion

N

Which of the following shapes has only two right angles?

. b i\_ c. j
3. ]oI40=

11
4 35

5+3+4
5 i )

o

Describe the rule for this pattern: 2,7, 60 11, 1015 .0 .

N

I'ind the area of the hexagon. B

Co
3]
o
o
=

\9, 5,000

— 3,386

,0, 4,508

28
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It it is 5:12 now, what time was it 24 minutes ago?

Which of the following tetters has one line o symmetry?  E F N

of 9=

i | —

4.
7
A5+ 11y =

I'he third number in each of these rows is found by

1 1 2
2 3 3
5 io 15
14 10 20
fem
. . . 5cm
Find the perimeler of the shape to the right,
10 em
7om
11219
Find the sum of the second (shaded) column. 5(8|6
41317
16— 4= 18=3~= 15+5=
34 56
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Round each number o the nearest 1,000

1238= _ 1850 = 3320 =

Which of the following letters bas two lines of symmewry?  H W L

I 1,+l_ﬁ i =
5 575’ heo o =

3rde246-

“
Complete the pattern box. 2 5 g |12
10 | 25

If the perimeter of this shape 12 23, then x =

The sum of the third {shaded} column is o _ vi2)9
5lal6
afzfv

Gnb= 9B (Spw =

37




What is the value in cents of 10 quarters and 2 dimes?

Wiiich of the following represents a line?
N b [

Which fraction represents 15 = 27

2 15 15 2
a - b, — c. — d. -
15 2 15 2
203
L0
T 7
ser+] Jem
. . 3 8 8
Fill in the empty square to the right by following
the pattern given. g {24130 18

The width of a rectangle is 4 teet. 1f the area is 36 1.7, then thie length = -

d Mthe 1 | NESL
Find t} irst o .
wnd the sum of the first column . siele
4317
86 93
Y] = 10
50 ¢ 60
x50 x 00

3f




Kelly has $10. which is $2 more than Tina has. fHlow much monegy docs Tina have?

Which of the {followinyg represents a ray”
a. b. .
—

-

Which of the following vepresents the diviston problem 16+ 9 as a fraction?

9 L 16 16 s
T " 1o “ 7y 19
5 6
—+—=
7o

~
Use +, —, », or = 1o cemplete, ?| w 3= 3%

How many sides should the next shape in the
pattern have”

I every side of an octagon is 0 inches, what Is the pecimeter? __

1219
What is the product of the list (shaded) row? slsls
41317

I'ind the remainders for “«]TI and 5)1_?-

[N
—of12- of I3 =
o

32
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Bobby is 7 vears old. Ray is twice Bobby's age. How old is Ray? _

Which of the Tollowing represciis a line segment?

a. b. [
— »

Al of the fellowing mean 21 divided by 9 excepl:

a. 9 b I ¢, 2109 d. 9]2_1
9 !

If4E—~,lhen GE: _ .

5 (§+2)=

Completc the pattern: ABAABAAABAAA .

Find the area of the triangle.

Find the product of the numbers in the third row, 1]3
5|8
412

71420 = 311,500 =

8359
~ 6,728

35
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Diescribe how vou could have $0.87 with the least number of coins pessible.

Which cirche has a rudius draswn on it?

AT

kS 3
[
12 12

- x
If 3-=— thenx= _
(5x(,)+(3xL|)=}0 “

—

Complete the patern. 64 32,168, .

N . - y i:_h‘i
What [s the arca of the shape to the right? o [ J

Eggs Laid Last Season

[ow many eggs did Lucky lay?
- " Lucky
Clucky
Old Red
9476 Lty
- 1335 Each [] = 1 dozen
2,761
23478

L
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Saral has three dozen cookies. 1low many cookies is this?

2 The hypotenuse is the longest side of a right triangle. Which letier c
is beside the hypotenuse in this triangle? _ a
1 1 b
3, I+ 20 =
3 3
4 o=l
—=—,thenn=
! 6 2

o

. 1 2
Use + or * to complete the problem. 5 IS5

Which of the following triangles would be the b T:‘

next in this pattern?

a. h. E ¢

)

gialt
7, Find the product of the third coluimn, _ - s5la]e
41217

For Problems 89, use the bar graph to the right. Math Grades

& According to the graph, how many students are

getting an A for their math grade?

Students

.9, Accotding (o the graph, are there more Hs
or s in the class?

&

/0. Hx02= 7 %04 = §x05=

35
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If today is Monday, what day will it be eight days from now?
Which letter is beside the hypotenuse? &

1
Write as an improper fraction: 85 =
1
Use >, <,or= 1o complete the problem. 0.55 I:l -

Use + or x to complete the problem. D 3

Complete the sequence: Z1Y2X3

Find the area of the shape.

Shade the second column of the grid used in Problem 7.

13+02+04= 08+02+07=

(2)A5) =
(4)su1) =
(5)eN0) =

-7
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For Problems 4-5, use the grid to the right.

If tomorrow is the 4th of June, what day will it be three days from today?

The following three numbers are the side lengths of a right triangle: 5, 12, and 13.
Which number is the length of the hypotenuse?

i,
9

[y

The grid has 100 boxes.
How many of them are shaded?

How many boxes in the grid are not shaded?

43+9%=

What is the perimeter of the shape to the right? - l—

B 10 186
Complete the chart: N

¥ 4 5

3
Use >, <, or = to complete the problem.  0.75 l:l n

1t
4

(PPN
==
.
wr
£l
—_
oJ"‘
E g

E-3
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x If today is Tuesday, what day will it be three weeks from tomorrow?

Z Which circle has a diameter drawn on it?
o O O

For Problems 3—4, use the grid to the right.

a How many boxes in the grid are shaded?

4, What fraction of the grid is shaded?

the circle or the box?

6. z-z-z-D =40

2 Complete the sequence: 0,5,1,6,2,7, ,

5 Which would have the greater perimeter, (/—\

8. The following cubes are placed into a bag. What e, [P 7
is the probability that a cube with the letter B H’ B’ '

will be drawn from the bag?

.9. 3.65 x 100 = 27 % 100 =

/oo 411,236 = 5),235 =

T
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,, Ted gets paid every twe weeks. Is it possible for Ted to get three paychecks
in one month? Circle: Yes or No

2 Which circle has a chord drawn on it that is not a diameter?

T

For Problems 4-5, use the grid to the right.

4. What percent of the grid is shaded?

5 What percent of the grid is not shaded?

N
6: Which would have the greater area, (
the circle or the box?
For Problems 7-9, use the chart to the right.
Letter Value

2 atb= a P

b 4
& bea- ¢ o
e d 5
‘9' 3= e 8
b '
1 2 1 2
10 5+3- 55
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For Problems 1-3, circle the amount that is larger.

7
2
3.

For Problems 4-5, use the diagram to the right.

4

2 months or 10 weeks
9 quarters or 2 dollars
4 feet or 50 inches

Triangle 1 is of the square. 3
1 b 1 1
a3 -3 <3
. . - Ld
Triangle 2 is ot the square.
L bk i
a3 -3 L
Sally says the perimeter of the rectangle is 22. Desiree 2
says that it is 18. Who is correct? 2
Which shape has the greater area—the triangle
or the square?
For Problems 8190, use the chart to the right.
Letter Value
d—a= a 24
h 28
c+8 - 2
3 d 36
1f the pattern continues, what would be the 8

valuz of the letter ¢?

]
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/, The number | with three zeros afer it would represent
a. one thousand b. ten thousand c, one millien

2 Match the name of each word with its figure.

rthombus a. D
square b. 5

quadrilateral ¢ |:]

For Problems 3—4, use the grid to the right.

What percent of the grid is shaded?

AN W

If 50% of the grid is supposed to be shaded, how many
more boxes would need to be shaded?

5: 16+2+2+2=
5,394,600
6: Fill in the box with the next number in the sequence: 5,494,600
5,594,600
2 An electric fence around a property would be most like the of
the property.
a. area b. volume c. perimeter
8 ss[ o
9 236<fo= 0.34 x 100 = 46 %10 =
10, - 1
A E of 40 = E of 50 =

prr
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Z The number 435 should be writlen as:
a. four hundred and tinrty five b, four hundred turty five

e four hundred thirty-five

2, Which set of shupes shows two figures that are NOT congruent (samie size and shape)?

O AA 0 N e

For Problems 3-3, circle the larger amount.

1
3. " or 75%
- ALY L
¢ 2 ar N
9 -~
5 1—0 or 95%

Y

The following cards were numbered as shown, plaged

face down on a table, and then muxed up. If a card is
turned over randomly, what number would show up

most eften?

7. axs=[ o

8, Which of the following araphs shows these ages the best? Bob = 12, Tim = 11, Vern = 6,
i Ages b. Ages C. Ages

B

0 Beb Tim Vern o Bob Tim Vern
g 2= 22— Wx2=
11 | 1 I 1
/a —x— = —+— = ——-—=
33 I3 33

q2
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R

/. About how wide is this paper?
a. 9 centimeters b. 9 inches ¢ 9 feet

Z How many lines of symmetry does this shape have? <:>
3 1 3 3

y —+-+T=
8 8 8

4, What fraction does the letter B represent? +—H—|—E—|—‘—‘—H—|~

NS K

o

The four cards below form a pattern. What would the 7th card look like?

| (2] 2] (4] G
s} [1o] [s5] [zo] e

’ 0, Complete the table by finding the sum and product of the two numbers in each row.

Nurifeor | Number Sum Product
5 8
7 9

73
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was most lke the Cofthe hox
a. Slll'l.ill.‘c dared L'l. ]')L‘]'i'\l'I.L'lC!' <. H)h]mc
For Problems 89, use the graph to the right. Net Sales
, 4 8 5
8 ‘ | 5 5 :
. According 1o the graph, sales in March were k] A /
) TN 7
A up I down a1 </
3 . .
c. about the same as the other months F: 104 &
=
9 e | : : '
. In which month were the sales the best? Jan.  Feb.  Mar  Apr

10,

Lk song vn Mel's MP3 player is most Likely to e about

a. 3 minoies b3 seeonds e A0 minules d. 3 howrs

Muateh eacl werd with s figure

Line w, e
Semnent ., +——*
Raw . ———
A

7 I T

What fraction does the letter A represent”? _ i
0 1 2
-

Which number shuuld go in the box? 340, 344, I 352
A, 348 b. 346 c. 352 d. 348
200,000 - $H000 = S400 ~ 100+ 4 = o
a. 205841 b, Z3K.140 o4 b 250,514

[ am an odd aumber between 10 and 200 T can be divided by 3 What number am 7

A Martha wrapped a present in wrapping paper, she happened to think that the paper

Month

RO 426 - 5§+ 10=




‘ Which of the following might be reasonable dimensions ol u bathroom?

a. 40 i x 3000, b, 2 miles * 3 mifes 9 feet = [ 2 et

2. Whieh set of shapes show two flgures that are congruent?

"ol ol
00O b

3 3
3, What fraction should be next in this sequence? T -
4 1 3 3
—x—x—=
A

For Problems 56, use the grid to the right.

5 What percent ot the grid is shaded?”

S

How many more squares would have 1o be filled

in so that half of the grid is shaded?

N

[ am an even number beiween Tand 10, [ ean be divided by 3 evenly,

What number am 17 _

%

Justine says that the arca of the rectangle is 24 square 4

units. Marcie says that it is 20 square units. Who is correct?

©

0.

§ xR -

808 =

(6)6) -

6 0.0

e —
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/, 3000 + 5000 + 500 - 0
a. 450 860 b 1500800 c. 405,860 d. 403,506

2, How niany sides does cach shape have?
Pentagon: — Oktagon: _ Decagon: _

3 I dR% = 0,45, then 53%

4, Sales tax in o particilar state might ber o, 6% b 60%
5 What number is twice as much as 2.4007

a. 4.800 b, 1.200

e, 3400 . 480

6: What is the error in the problem 32 < 9 = 2817

7, Sally betieves that the perimeter of this rectangle is 32,

What mistake did she make? 4

Far P'roblems 814}, usc the chart to the right.

6’, alh=
a b a b c
/0 (.”)(g)= 5 4 8

[

a5
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The number | with six zeros after it would represent

a. one thousand b. ten thousand ¢. one million

2. First do the addition, then reduce the fraction: i*’ 9+2 _
8+10+2
3 Write as a decimal: 01% =
4, Wrile as a percent: §.47 =
5-. Ifyon add 5 to the product of 4 and 0, you get
5+ 4
6: Complete the pattern by filling in the bottom box. 9

7. 3OZXD=17 li +4|

For Proltlems 8—14, round to the underlined place value,

& s
G oo
10 s -

7
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/, I you rearrange the numbers in the year 1942, what is the smallest number you can
make?

For Problems 2-3, use the diagram to the right.

c/
Z Which letter is cutside the rectangle but inside /A

the square?

B
3. Which letter is inside all three shapes?
Fraction | Decimal | Percent
4. Complete the chart. 3
4
0.1 Ll
For Problems 56, use the Venn diagram to the right. Favorite Kinds of Mavies

5-. How many people prefer scary movies only (not funny)? %m

6: How many peopke took part in this survey?

2 The y numbers in this chart are times the x numbers.

For Problems 8-10, estimate to find the best answer.

8. 22 + 51 is approximately
a. 70 b. 80 e 60 d. 100

.9, 96 + 103 is approximately
4. 100 b. 300 ¢ 200 d. 400

/ 0. 21 * 29 is approximately
a. 500 b. 400 c. 300 d. 600

Ll
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x The number 1 with four zeros after it would represent
a, oue thousand b. ten thousand ¢. one million

For Problems 3—3, use the diagraim to the right.

2, What fraction of the large triangle is shaded?

\?. if one more triangle were shaded, what percent of the
large triangle would be shaded?

4' Complete the chart. Fraction | Decimal | Percent
25%
0.3
5: One more than the product of 8 and 10 is
6: Which of the following is NOT amultipleof6? ___ 6 12 24 32 36
7, Which of the following would be the correct order for simplifying a math problem?

a. exponents, parentheses, multiplying, adding
b. multiplying, dividing, subtracting, parentheses
c. parentheses, adding, multiplying, exponents
d. parentheses, exponents, multiplying, adding

8, Complete the pattern: |, 3, 6, 8, 11, 13, 16, .

1.3 1.3
9. 378 378"
10, 2.10- 30+5= 40-2=

49



The comect way to write 12.36 would be:
a. Twelve and thirty-six hundredths

b. Twelve and thirty-six thousandths

¢. Twelve and thirty six tenths

d. Twelve and thirty and six hundredths

Put these three angles in order from least to greatest: Right, Obtuse, Acute.

Which two ietters represent the hypotenuse of a triangle A
in this figure?
a. AD b. AB B
c. BC d. AC

-~

For Problems 4—6, cross out the item that does NOT belong in each list.

4
S.
6.

7

4 8 12 15
fence walls frame carpet
days inches weeks mornths

7x6=5=8+x thenx=

For Problems 8-10, use the chart to the right.

8
9.
170

ab = ac =

50
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The 1984 Olympics were in Los Angeles. If the Olympics occur every four years,
which of these years did not have an Olympics?

a. 1988 b. 1996 €. 2002 d. 2004
Each side of the cube is called a face.
How many faces does a cube have?

f 38 means 3.88888888. .., then how would you write 1.77777777...7
20% + 30% =

1
If'z' x10=8—x, thenx=

For Problens 6-8, estimate to find the best answer. (Hint: “=" means “approximately™)

6.
p 4
&

10.

26+73+41 =
a. 120 b. 140 c. 160

$1.78 + $2.99 + $0.84 =
a. 56 b. $3 . $4

B+11+12+17=

a. 30 b. 40 c. 50
7 4
LA, A,
9 9
¢ 1 1
Change to improper form: 95 - 10; =

&7
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How many 50-cent cans of soda can be purchased with $57

How many faces does this shape have? Q

‘What is another way to write (.8222222222...7

o . 25
Rewtite in decimal form: oo

£ 12+ m =22, then m =

-»
6: Complete the pattern. ABBCCC
For Problems 7-8, use the chart to the right,
Honor Roll Students
7. Which grade had about the same number of Grads 2006 2007
honor roll students both years?
3 51 83
8, Which grade should be most concerned about 4 46 47
the trend from 2006 to 20077
5 80 46
.9. 0.952 0.855
= 0.84] =0.704
/0 10¢ 1000 _ 10,000
M) 10 10

52
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Using the numbers 1-6, il] in the blanks to create the largest number possibie

B

If the dotled ling is a line of symmetry, how long A c
is side AB?

-

Write using bar notatien: 0.39383939... =

X
2203 (henx = )
If 100 . then x -

10%0 + 2590 = 20% =

For Problems 6-7, use the chart to the right.

6.
7z

4

10.

x ¥

Complete the chart.

2|10
Ify =35 thenx = _ 3118

5
Use the graph to find the values of A, B, and .
A=_ B-_ C= B
L1 L,
00 01
(Q.5)%0H) - (0.4%0. T —

53
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Lising the numbers 16, A1 1 the blanks to create the smallest number possible:

Fill in the missing manber in the factor tree,

Is 3482 closer to 34 or 357

Eight hundredibs plus vine hundredibis equals

30

20.4% + 20035 F 1 =

For Problems 7-8, use the circle graph te ¢he right,

z.
8

70.

What pereent of the votes did candidate A receve?

It candidates A and C combined thelr votes, they would

have

a. more than

088 = 10

_eandidate B

b. fess than ¢. the same ay

Election Survey

C
20%

098 < 100 =

0.98 » 1600 =

8§35
= u;

T —

Y
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Mike can ride his bike 15 miles per hour. How muny miles

could he reasenably ride in one day?
a. 350 b, 250 <. 500

d. 100

Would five smaller boxes fit inside the larger box?
Cirele:  Yes or  No )

04-03+14

T
Il

Circle the greater value: 0.7 or 0.7

2 i 0204 0.05=
4

For Problems -8, round (o the place value of the underlined pumber.

hols
43 —
105.87
T rectangle | length | width | area
Find the areas of the reclangles deseribed in the chart L 5 ’
2 9 10
3 5 9

Circle the problems below that have whole number answers

inat degimal or [ractional answers).

200
24+ ==

wn

0.16 « 100 L
4 4

-




It took Jill two hours to drive 100 miles. What was her average speed?

Would 10 smaller cans [it inside the larger can?
Circle:  Yes or No

§

3
Circle the greater value: 0.7 or T

Fraction | Decimal { Percent

Complete the chart. 40%

1
4

Ifx=y and p =2, then 3x =

Complete the chart. 112 4
(Hint: The product of each column equals the same value.) 24 | 12
James has $2.85. Fill in the remaining bex ta show  J o o horcl Dimes | Nickels
how rmany nickels he has.
B 7

Complete the pattern. AC BD CE DF .

. 1 2 4 5 10
Circle the following fractions that are equal to 3 T 0 20 40

How many days are in each of the following?
2 weeks =

1 year (not a leap year) =

3 days more than 5 weeks =

56
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/, A case holds four boxes, A box holds five cartons, How many cartons are in bwo

cases?

2, How many faces does this shape have? B

For Problems 3-5, use <, >, or = to complete.

3 8.13 8.4
4 oo _ 008
S i s
28
6: Complete the factor tree, ;\ D

Hin

Can he nuwinbers you wrote in the empty boxes in Problem 6 be divided by
} [ Yy

N

other numbers besides 1 and the numbers themselves?  Circle: Yes  or No

Fundraiser
& ‘ w2
. How much money was raised by all the children? Ted
—————————— Sue
May ||
Each [ = $1

g 3 |- 3xf | =1s wel |3
i I I

/0, 40 dimds=__ dollars
40 nickels = dollars
40 guarters = . dollars

572
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/. Joanne has 13 basketball cards. Jackic has & 17 Joanne gives Jackie § of her cards,

how many will each girl have? Joanne: o Jackie

What is the tolal wnnher of degrees in a triangie? . 90" 30°

w N

Write using bar netation: 1. 38388888, .. =

IF 9 - 3, then Jle =

LGOI

Becky is the same height as Brittany. Brittany is (he same height as Mandy. Are Becky
and Mandy the same height? Cirele:  Yes or  No

3x 2= [locouldx =57 Cirele: Yes  or No

S

Investment in mitlions
of dollars per year

For Problems 7-8. use the graph to the right.

7, Which company (A, B, or O3 made the
poorest investment in ong year?

8, Which company (A, B, or U) made the

best nvestment in one yeat?

a : R
2002 2003 2004 2605 2006

.9, How many sides does cach ol these shapes have?

Rectangle: . Penlagon: Octagon:

ek |

. . -1
/0, Change to an Inpooper fraction: 4= 0
2

5&
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,, Which of the following numbers is vne bitlion?
a. 1,000,000 b. 1,000,000,000 o 1,000,000,000,000

What is the missing angle? o -E

0.3+ 40% +

“w N

Y
]

425 =

o

Find the sixth way.
ABC ACB BaC BCA Cal

For Problems 6-8, solve if o = 10, 5 =5, and ¢ = 3,

6: 124 xa=

7 E_Zﬁ:
& atbre=

©

In Probiem §, which operation should you do first?
a, add b. sublract ¢, nultiply d. divide

The Jetters A, B, and C can be arranged in six ways. Five ways are listed below.

/0, What is the arca of this rectangle? __ Imm

What i§ the perimeter of this rectangle?

g mm

52
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Tason drave for three hoars at an averape speed of 55 miles pey hour
2 7

How far did he go? __

The interior angles of o tianghe add up to _ . deprees,
. . . . 3 , 6
Crrele ail of the foliowing that are equat to ==+ 03 3% —
. ¢ 10
X0) =
sz | |
Fill in the missing number, 3 -

9—327 — 81

Two times a number is 14 What is the punber?

LTI

I the pattern continges, shoudd the last box be { ! ! | i }

L L

shiaded or clear?

Adlan has $3.03 Fill in the ramaiimg boxs to show Quarters

Dimes

Nickles

low many dimes bie bas.
8

1

67 92 101
—28 5 —33
(33403 — (2H2u3)—

&0
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Michaela makes $5.50 per heur at her job. How much does she inake in an

average clght-hour day”

What is the area of the shape?

I
3(3 4 4+4)=
436 . 1,‘"81_2

ila coin wese tossed on the grid in Problem 2, would it have a betler chance of

landing inside or outside of the shape?
Five more than five times a number is 30, What is the number? _

Place ( ) symbols in thi problem to make 4 true statement. 3 -~ U = 4 = 48

Point B is two units larger than point A, What
number represents the value of point B?___ +H—}—‘}-H—*—|—+—|‘

Draw the next B in the pattent.

B md

Sum
.
Find the siam of cach row. 31517
B8t
91412

4




/, 5,009 rounded o the neavest 100+ Loon =

2. I bath the length and width of this rectangle are doubled,

what will the new arca he?
3. Cirele (he two smallest muonbers.

368 3.06 a7 308 36.8 3.068
& =77 thew =

For Problems 5-6, use the spinners o the right,

5 How many possibilities could oceur -
U both spinners are spun?

6: What is the probability of getting an A and then a 27

2 Fill in the missing prime otmbers between 2 und 30

[2fs] [70nfe]l wl=]

For Problems 810 use >, <, or=.

8' \i'm . ¥

a 2.8 _ 27

0 > )
3 z

62
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For Problems 1-2, use the calendar to the right, MAY
S M T W T F §
/. Sixteen days afler May 4 would be a: T2 T
a. Monday b. Tuesday

4 | 516 | F 8 |9110
"W [ 12 i3]14 15|16 |17
1@ 192021 | 22|23 |24
25 |254827 (2812930 31

c. Wednesday o, Thursday

2, Which Tuesday has a date that is a prime

nunber?

,  Match the letters to the numbers nsing the number line.

A B c o 24
s H+ e -2%
2 2.5 3 =

4, Cross out any prime nambers from the grid,

|5|3‘12|15|21|23}

Boys | Girls | Total

5-, What is the probability that a student pulled at vandom Class 1 1o 15 25

from Class 1 is a boy? Class 2 i8 12 3t

6: What would the next shape in this pattern be? D lﬂl O O 'ﬂ] D [:] {‘;3
a. D b. O [ q:,‘]

For Probiems 7-10, match each description with its cerrect mathematical expression.

7, Twice a number. u. %

8, A number to the second power. b, A

¢9, A numlger divided by 2. c. 2n
/0, The square root of a number. d. o’

&3
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Monigue weighs 84 pounds. When she is holding her baby brother. she weighs 96
pounds. How much docs Moniyue's baby brother weigh _

45

AN

5
Curplete the factor trec.

AN
33

, ) bt
What is the commaon denominator tor 3 + E‘.’

1 oy
3 (3+5) -
Boys | Girls | Total

What is the probabifity that a student pulled al - . | Class 1 10 15 25
random from Class | is a girl?

) — Class 2 18 12 30
Which one of the ulhiwing solves this problem? 2v +3 = |5
4, v =5 Loa= [ d.x=0
Coinplete the analogy: O isto @ as D Is lo:
. @ h. [ E
Find two pairs of ditferent tunequal} odd numbers thal complete the equation.
% I + =0

_-_ Numbers | Sum | Difference | Product
- . 1.4 5 4
Fill in the missing numbers to complete the chart.
28 10 6

Ifx’ =16, thenx =

&4




~

AW N

"

6.

o~ Mwvre 58

A new car is available in five different colors and with twa different types of engines.
How many different combinations of colors and engines could you order?

The perimeter of the rectangle o the right is 24 Tt x
What is the width? ____
7t
What would the area in Problem 2 be? _ (Hine: Use the widih you found.)

(3+7Y =

Quarters | Boys | Girls | Total

What 15 the total number of boys in these Ctass 1 10 15 b

classes? Class 2 18 12 30

For Problems 67, use the Yenn diagramn to the right. Cars

Fill in the Venn diagram using the following information.
Four people only drive cars.

Six people anly drive trucks.

Eight people drive both cars and trucks.

How many people took part in the survey in Problem 67 Trucks

- P
Fill in the missing numbers, 3 » 4 = 6= L

Both

[




For Problems -2, use the calendar to the right.

s M T W T F S|
/, Three weeks later than Friday. T2
May 2, would be Friday, May 41516l 7y8]9 |10
11 [ 12113 |14 | 15| 16 [ 17
2 Sandy gets paid every Friday, Flow many paychecks 18 (1920 |21]22|23 (24
will she get in the month ol Mav? a5 2627 |28 | 2ol an ) 21

3, H each box is two unils leng. tind the perimeter

of the shaded reciangle.

4 Gaen-

5: Find the next card in the patlen,
5 5th Card = .

6, Which of these numbers should go inside the box W make the equation true?

ta
=10 a, |2 . 20 c 16

7, [f L0%% of this grid were shaded, how many squares

would be shaded?

Fer Problems 810, evaluate if ¢ =2, 5 =4, and ¢ = 12.

6’, The sum of gand ¢ -
9 -
0 :-

13
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ﬂ What is the best estiimate of the time on this clock?
a. 3:55 b. 4:582 ¢, 2:55 d. 3:15

z Fill in the square with the correct fractien. 12~

3. Which shape is congruent to this one? Q&
a. ql b. (i c.

Boys

5-, What is the total number of girls in these Class 1 10

classes?

S Class 2 18

6: If each of these hearts could be colored red, pink, or blue. how many diflerent
ways could they be colored? (Hint: More than ooe heart could be the same color.

— OOV

For Problems 7-10, match each expression with its correct description.

" .
2 T a. A number to the third power,
2
8. In b. Three times a number,
.9, W c. The sum of a number and three.
“
/0. nl3 d. A number divided by three.

&7
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Round each number to the underfined position
128 = 3158 = 488.37 =

2. Llow many cubes ara in this shape?

X ¥
D2 [IR:]
3, The numbers in the v column are times bigger than 03 | 12
thwse in the x colunm ‘
0.5 2
07 2.8

What number solves this equation? | [x(3+ §y=153

-

Oy A

Fifty tickets were sold for the lottery. Jackson bought five tickets. What are the

chances hie will win?

1,884
6 Fill in the box with the next number in the sequence: 3 384
2,584
7 2V ayas)- i |
.\ | SO
For Problems 89, use the bar graph to the right,
E
g, According to the grapli, bow many desks were in z 2
rowA? 2 5
A
.9, Which two rows had the same number of desks? 12345
el 3 # of desks

/0, What is the remainder alter each number is divided?

5)76 6j9 480 ..

&8
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A good runner might be abletorun  miles in one hour,
a, 20 h. 30 c. 1

Which of these shapes is a thombus?

1
Use + or x to complete the problem. 6

o | 4
[ R

2a2.2-3 =36 Cirele:  True  or  False
Il you add 12 to the quolient of 15 divided by 3, youget ___

‘The cards to the right were placed facedown on o table and then
mixed up. Which letter would be most likely 1o appear when 2

card s flipped over? _
. ) L 3
Write as an improper Iraction: 8 4

R L kd
Write in mixed Lraction lorm: i

0.327 % 100 = 0327 % 10 =
L3
0% ofdé=_ 10% of 140 =

iz 0|0

2|40 |=
RDIrlo|eo|e
Qir|e|wnl>»

0,327 ~ 0f =

&g
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Which numbers can both 6 and 12 be evenly divided by? Cirele: 2 3 4 6 8 12

"

If'2'=2'2'2—h’_1hcn3:=7 . 12345

I 7] s arq2,3) then . JEEET

- N ow bk ow

Below are seme perfeet square oot nunibers, What would the next perfect square root be?

4 \-‘"9 Nl I 425

It 3x + 35 = 20, which of these numbers could x equal?

a. 10 la 15 e 5 the 20
The square root of whal number e 9% :l
Wlat iy the perimeter of the shape 1o the right? ]
Lawns Doug Mowed
For Problems 8%, use the frequency chart to the right. Mowing Day | Tally
. . M [
Op which day ol the week did Doug mov the most T 1
lawns? 7 _ W |1
TH [
On el o F |
Doug mowed the saine nmmber of fawns. S LY
SUN

For Problem 14, use the rules of negatives to help vou simplily exch expression.

-6 = Negative x Positive = Negative
Negaiive ¥ Negative = Positive
(-0)(-31 = Negative + Negative = Negative

. Megative — Negative = Positive
{TH-8} = Negative + Positive = Negalivg
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Which activity is mere likely to occur? Activity Cdds
hele in one (golfy 33,000 to 1
bowling a 300 game 11,500 to 1

a. getling a hole in one

b. bowling a 300 game

What are the coordinates of the i ?

S oW A

W N

H

Fill in the missing factors of 24, 1 (2 ] 3 | | g ‘ a I |24|

o

Complete the pattemn. 1, 3.7, 15,

3x(D +4)= 18

Which one ol the following is NOT equal to the others?

NS

5

30% 03 = 0.03
10
& -
g o= C15)= (3}~ (30} - (-10) =

For Probtem 19, use the rules of negatives to help you simplify each expression.

= QYL = Negative x Positive = Negative
o ,0 -8 L‘)" Negative * Negative = Positive
= . Ui-51= Negative + Negative = Negative
; (-7N9) = Negative + Negative = Positive
3 Negative + Positive = Negative

-
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ﬂ Match cach word with its definition:

Prime a. numbiers that evenly divide another number
Factors b. whole nunibers that are the products of other numbers
Multiples . a number that can only be divided by 1 and itsell

For Problems 2-3, use the graph to the right.

2, What is the distance from one shaded box te the

— N &t

other? __
_ ]
3 To get from the gray box to the black box, you 12 3 45
would move .
a. north b. south ¢, east d, west
"
4 -

I T
—=__,ueny =
’ 9 16 —

6: H3+6+2+8+34 =27 thenn=

For Problems 7-9, circle the greatest amount.

A V25 10°

3. 3 weeks 20 days i menth
100

9. ) 4+ 5

For Problem 10, use the rules of negatives to help you simplify each expression.

-8) 4+ (-5} = 4 —(-8)y= Negative + Negalive = Negative
,0' -8) +-5) -3) Positive — Negative = Posilive

2z
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Z Match each kind of fraction with the correct example.

fmproper ___ a. i, 4
4 3
bixed b, 4l
2
Reciprocal ¢ ?
5 3
3 2
2 What is the perimeter of the shape? 5 7
1
3 lsi.
4 T3

A

1 1+6] = &, then |-100]| =

O

Which numbers can both 8 and 24 be evenly divided by?

Cirgle; 1 2 3 4 6 8 12
11 31
Complete the sc C8 —y —y Uy T
6. P W T R 2

For Problems 7-10, match each mathematical expression with its correct description.

7. atb a. b is subtracted from «
8, a—b b. b is added o a
a ab & ¢ & is multiplied by @

70,

d. ais divided by &

o=

3
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/, What is the best estimate of how much of this rectangle is shaded?

La | —

T 10

2, Which of the triangles below is equilateral?
a. b, [
3 3 5 5 4 5
3 3 <]

2.1 Circle:  Tr Fal
7 7 Arcle: rne or alse

A W

1 i t
—=— thenx= .
5 a0 T —— -

48=2+2+2-2-

Wrile as a mixed fraction: 3.75 =

N o K

Al of the loilowing equal 10 except:
—

i’ ~Ton 5t 10
0

%

Pul these numbers in order from least to greatest: -5, 7, -2, 8, 0.

g +im- (31 (8= (-3) - (8) =
/0 (-12){-4) = {14y = ﬁ:
L ( B 4

24
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/. What is the best estimate of the part of the rectangle that is shaded?

3 . ! ol
a5 "3 €3 3
Z Which of the lnang es below is isosceles?
= 1 1 1
03= a. — b. — — Z
3 a5 2 e 3 d

O N

22 x(-B) =

S

N

For Problems 810, evaluate if ¢ = &, £ = -2, and ¢ = -4,
8, atb+c=
\9, ahe ="
i
A a+— =
(/)

LRI LOCT

ssag

25
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Which of these is the best estmate of the time on this clock?
4. noon b. 9:00 e 11:00 d. 1:00

Which of the triangles below is scalene?

a. k. c.
3 3 5 5 4 5
3 3 8

Pul the following numbers into the correct box below: 3, 14, 2, 4, 21, 6. 8, 28

Multiples of 7 Factors of 24

For Problems 4-6, circle True or False s
4, {(20=2)+3=30 True or False
5: A5+4y-6=5 True or False
6: 4+7=3=25 True or Falsc

Dut the numbers {-6, 10, 0, -5, 4} in order from least to greatest,

Sum Product Numbers
Complele the missing numbers in the table. i 16 2and8
8 12 _ and___

a8 +d-5= G-8+4-3=
420 -3)513 =
*{-3)

7
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2. If point B3 is haifway betwcen points A and C, A
what number does it represent? 2

3, (3+03+0.7)=
4 ra3sca+ il ena- and b =
10 5 — —

5-, H you spin the spinner to the right, what are
the chances it will land on 1 or 37

For Problems 6-9, solve each equation for a.

6: Ifa+8=12 thena=
7. Ha—2=-12,then u=
8. If -6 = -48, then a =

@
.9, If =10, thena =
-3)

‘

10,

b

Py
IS
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0
t A lon is 2,000 pounds. [t might take about sixlh graders to weigh a ton.
a.25 b. 100 c. 1,000

2. Match each triangte with its correct definition,

Equilateral a. a triangle with two equal sides
Scalene b. a riangle with three equal sides
Isosceles . a triangle with no equal sides

3. It Brandon can hop three squares at a time, |5'a"} !

how many hops will it take him to get to the
end of the walkway?

1T

4, Put the tollowing numbers into the correct box below: 3, 10,2, 20, 6, 25
a

Multiples of 5 Factors of 18

o ) A c B
If this pattern centinues, what letter would be at
the top of the next shape in the pattem? - ¢ B B A A c
Which of these is the same as 77

a7+ 7+7+7+7 b.5+35+35+5+5+5+5
e 55555 05+% o TeTTe07

o

)

N

Which of these is the same as (.5888888...7 a. 038 bh.V0358 ¢ 058 d [6.58]

g Reduce: S = 10 = 5 =
' 115 24 30
.9. (-3)(-7) = (-8)(5) = (8)(-4) =
10, s+ -71= (-5)-7= (-5 (-7) =

78
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l Marty got a score of 45 with two throws ou this dart board.
Which two categories did he hit? -

2, Find the area of one of (he triangles. 5

3 Fraction | Decimal | Percent
. Complete the chart.

5%

4, These letters are put on cards and then one card is drawn at random. What is the
probability that a Y is drawn?

T T Y Y Y R S 3

O

Which of these numbers would solve both of these equations? Zx + 7 =13 and 6x -5 = 13
a3 h. 10 .2
54

il 5%
5t i

o

All of the fellowing equal 5 except: -5 425

N

Jf%xa:l,:henn=

u-

*3-3- B
35 7 -
{Bint: Cross out the common factors in the top and the boltom.}

o

©
o
| 1w
i}
5l
i

. . 1
Change to an improper fraction: 4E =

oo

eEEg B AL, SR

29
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ﬂ Mike claims he poi a score ol 35 with two uews oo this dart board,

Is that possible? Cirele: Yes  or No
12
Find the area of either right riangle.
For Problems 3—4, use the game bourd to the right. Red | Red | Blue | Blue
\?, A coin is tossed on the game board. Woutd 1t Jand on Blue | Red | Elue § Blue
o Red or a Blue sguare more often? o Blue | Red | Red | Blue
4 Blue | Red | Red | Blue
.

What js the probability the coin would land on Red?

Oy

Fill in the missing {actors of 28, | 1 l 2 ! ’ 7 | l 28 l

6 6 5 d=3-2-1
' 43201
2 ul -
AT 3 g =L then g = - 5
4
3
g. One af the black squares has thie coordinates of (4,5). 2
What coordinates does the other square have? R !
12 3 45
.9, If point B ts halfway between points A and C. A B c
. 8
what numbey does it represent? 2 12

/o. Circle the problems below that have a whole number answer.

300 11 1 1
— [-16; —+ — 4t -

400+ 5
1 4 4 4 14

&0
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2 To find the volume of a box, meliply all three dimensions.
What is the volume of this boex?

l
L,
43

& What is the commeon denominator for — +

For 'roblems 4-7, match each clue with its correct answer,

4, the square root of 9 a. 20

5 a9 squared I3
6: a factor of 10 e 5
7, a multiple of 10 d. 81

For Problems 810, evaluate if @ = -5, &= -4, and ¢ = -3,

& atbte=
~9, abc =
10 .. .-

&7
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ﬂ How many legs do each of the Tollowing have?

4 chairs have  legs
Sducks have | fegs

2, What is the volume of this box? __

5
, S0% e 108 — 0,05 =
& ootz
»
Lior Problems 5-7, solve for x.
5 Ifx—25=90,thenx=__ )
6: If E5x =6, thenx = _
2 il i, thenx = :
3 - o
s
b G
For Problems 89, use the coordinate graph to the right. :
1
IR ENEEEE
6’. What are the coordinates of G?7 =
59- What are the coordinates of K? =
70 3 -
A (-5)3) = = (-60-3) =

£2




1 ton - 300 pounds _pounds.

Find the area of the right triangle.

Fraction | Decimal Percent

W N o~

Complete the chart,

b | s

»

Tina wants dark-colored tile for her floor. Which tile has meve black squares?

Tile A Tile B

AR AN A 12
: d-3-201

6: W34+ 52

X »
111
7, To get the ¥ number, you add ___to the x number, ElR
51 -3
. - J‘
For Problems 8—10, use the coordinate graph to the right. |
8, What are the coordinates of AY 2
I — A] - B
1
«9. What ts the distance from A to B? _ I Y I Y I
-
/0, To get From B to A, you would travel: -
a. east b west =
c. north d. south -

23
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For Problems 6-8, cross out the number that does not belong in each list.

6.
7
é.
9.

70.

Cross out the three-dimensional shape.

1O

How many lines of symmetry does this shape have?

Ha-13=-8theno=__

|~

Complete the sequence:

(I e

[=- AN

b | —

-
«

[ am an even namber between 30 and 40, 3 vou add my digits together you got 7.

What pumber am 7 _

3 11 13 6
7 8 14 2]
131 272 494 126

10% of 00 = 20% ot 60 =

1386+ 10~ {380 =100 =

ey

30% of 6l =

01386 = 10 =

24

weies £3 2617 Createre Teaching Press

KYUEY
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A gallon of gas costs $2.93 per zallon. Marcie's car bolds 10 gailons. 1 her tank

-

is cimply, how much will it cost to till it? o

2. I x = 3, which ef these numbers could be a possible number for x?

a3 h. -22 e, d. 4
3 3.
T4 03
. . . 3 -3 2
4, All of the {ollowing are equal except: 1 - = 4

5 Which of these fraclions is not completely reduced?

ko

~1 1

For Problems 68 use >, <, 0r =,

6 e
7, -5 -5

3, {.372 = 1,000 37.2 x 100

.9, 3,281

_x7

10, 611807 =

&5



z 1 Hal usually mows 21 vards per week, how many yards doses

Le average per day?

w N
wlro

Which of these is the correct way 1o write the number 27.367
a. Twenty-seven wnd thirty six tenths
b. Twenty seven and thicty six hundredths

c. Twenty-seven and thirty-six hundredths
For Problems 4-7, match each clue with its correet answer.

4. The pesitive square root of 9, a4

.
5. Nine squared. b. 244

6: A factor of 8 c ¥l

7, A multiple of 12. d. 3

Far Probleins 89, use the cirele graph and table of information
to the right.

& ‘The circle has been divided inw 10 equal sections.
According 1o the charr, how many sechoens would

need to be shaded for catcpory BY

.9. How many sections wonld be shaded tor category C7

/0. Complete the chart:

Numbers Sum Product | Difference | Quotient

-9, 3

Category | Percent
A 10%
B 20%
C 40%
D 30%
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If two darts were thrown at the board 1o the right,

be a possibile score. a 15 b. 26

2

What is the perimeter?

For Problems 3-6, match the correct value of #.

53, n+6=-1 a.n=3%

4, Sin=-15 b. n=-20

5 =16 con=-7
"

& S=4 d.n=4

For Problems 7-8, use the graph to the right.

This graph shows the value of the stock of a certain
company during the first six months of the year. I7
vou bought the stock in January and sold the stock

in May, would you have made money or lost money?

I you bought the stock in February and sold it in
March, would you have made money or lost money?

S
%
[v]
o

4x15=

Itv=2x+ 1 and x =4, then y =

could
c. 20

The dotted lines represent the lines of symmetry of this shape,

g | 2112
1w 814
2

4

Stock value per
month in dollars

14

12
10

(=T RS

[

Py
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Calvin reads an aterags of cight pages a night. About how many pages will he read

in wo weeks?

Match each number with its word:

thirty-eight and six hundredths a. 38.6
thirgy-cight and six tenths b. 38.06
three amnd cight hundred six thousandths c. 3.806

Match each statement with ils correct answer.

The letter T has X a. two obtuse angles and an acute angle
The letter ¥ has . b. two right angles
The letter Y has . . an acute angle
For Preblems 4-7, cirele True or False, -
4. 10:32=16 True or False
S soimer-a True or  False
6! 4+3-9 i
y =1 frue  or False
2
7, W34 2=111 True  or  False

Put the following numbers into the correct box below: 3, 8, 15, 10,2

Factors of 15 Factors of 40

In Problem &, could the number 5 be placed in either box?  Cweler Yes  or

1 6 1 G [’1'\
16" o

1.6 N 8
6 10 010 [10"
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-~ A
i

L . .3
,. Place a deciinal point in the following number so that the 3 has a value of o 243379

For Problems 24, use the coordinate graph to answer Trie or False, ¥
< \
2. The polnt (3,2) is inside the triangle and reclangle. :
Circle: True or False s
. \\
3. The point (3,-4) is inside the circle. T \
Circle: True or lalse - I,
41
4. The point {-1,3) is outside ol atl three shapes. 1N
. ~
Circle: True or False T
S liuen-
’ 3 { Letter | Mumber
A
. B
For Problems 68, use the table and bar graph to the right. =
9

6: Use the graph to help you fill in the table with the

number of students who received cach grade. Miss Roth's Class Grades

2 Accoarding 1o the graply, there were thres times
as many as

3, Were therc any Fs in Miss Roth’s class? __

0 4 10 15
Number of Students

.9, Find the arca and perimeter of gach square.
aom  Arew o Area
. a1 .
N Perimeter: Periimeter: L

Tl = Jede]= 4e302e] =

S
I

7
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Current | Record
liow many degrees must the lemperature rise to Temp, High

reach the record high? 83" =i

How many faces does this shape have?

The top and bottom of the letter Z are

a. parallel b. perpendicular . neither
List the factors of 12, i s s
List the factors of 18, | , s . N

What is the greatest common factor {GCT) that Pro#ems 4 and 5 have in common? _

What shouid the next shape in the pattern be? __ O OO O ()

a0 b. O

[van has scccer practice at 3:30 and a banquet at 6:00. I seceer practice lasts an

hour, how much time will he have to get ready tor the banguet?

Three boxes have the following dimensions. Find their volumes:

Box1:2,4.5 Yolume = cubic units
Box2:3,3.4 Volume = .. <ubic units
Box 3:2,5.8 Volume = cubic units

Circle the prime number in each row.

5 8 0
4 i2 i3
28 18 29

90
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z 1f the first circle and then every other circle below were shaded. how many

would be shaded?

For Problems 2-5, use <, >, or = to cumplete.

2 35 _ 35

6’. radivs ~ _ diameter
& 2 e
A ]

oA

Y

What is the next shape in the pattern?

ey N

What is the greatest common factor (GCF) of 30 and 407

% N

Should the shaded square of the pattern have a dot in it?
LT L

.9. Complete each slatement with the correct number of angles.

Arccltangle has __ angles.
Au octagon has o angles.
A hexagon has angles.

/0, Complete the chart, Numbers | Sum | Product | Difference | Quotient

-20, -4

E-ra
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76 minuies = ___

_ hoeur(s)and

minutes.

For Problems 23, use the coordinate graplh to the right.

2
3

I which guadrant would the point {-3,3) be found?

T which quadrant would the point (4.-6) be found?

For Preblems 4-6, circle the greatest amount.

NS &R

%

70,

4— (-7

obtuse angle

What is the greatest common tactor (GCFY of 18 and 277

Which of these four [tiends has a mongy amount that could

g.13

20=¢-5)

acule angle

be divided evenly by 37

-~
right angle

Naarmi $42
Maria $40
Barry $58
Lisa $65

Add the three numbers, and then divide the answer by 3 to get the average.

o ba
[

[ =]
o
L=

Average =
Average=
Average —

g2
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/, Jamie planned on spiitting her package of candy evenly with her friend Ali. When she
opened the package, she found that this was ot pessible. Which of the following could
be the number of pieces of candy in her package?

a. 12 b. 21 e 16 . 20

2 Which of these could NOT be the angles of a triangle?
a. 1067, 507, 3¢0° b. 00°, 50°, 40°

I13:RED and 4:BLUL, then 6: __ .
a. GREEN I BROWN . ORANGE d. PTNK

-

. . i I3 1
4, The number 0.2 would best belong between which two of these fractions? r l by
Lol L3 E 8=

a. 4 - T - .o A -

a S an 4 ) 1 aln 8 [y g T 2

For Problems 58, circle True or False.

5 32-4=32 True  or  False
2 2 ‘
a do=— frue  or  False
R
7 4 3 T False
=T rae -l 8
' 20 19 or TEm
8, 5% = 0.5 True or lalse

For Problems 9-10, evaluate if e =2, 0 =-6, and ¢ = 8,
‘9, oo
“
/0,. bla+c)=

&3
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6.
7.
g
9.
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Jasen had $34. le made $15 mowing a fawn, Then he spent $12 gelfing, How much
money decs he have left?

Stady the pattern below. I¥ the pattern cantinued, what would the sum of the fourth

square be?

1 2 5|8 g 110
3[4 7|8 11112
First Second Third

Linda left for her friend's house at 1:45. Her father told her to be home in 1 hour and
15 minutes. By what time should she be hone?

'\‘f‘ x’ﬁ -

The weather service predicts a 40% chance of rain for Friday. What is the predicted

chance that it won't raiy?

Fur Problems 6-%, match each description with its correct expression.

Twice a number plus one. ar b

A number squared plus one. b, (n+ 1)

The quantity of 22 plus 1 squared. e n+ 1)

Twice the quantity of v and 1. £ 2n+ |

(0.5)0} = (0.5)-0)= (0.6)06} = (-0.6)(-6) =

o4
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/, Lynn caught six fish. All of them were between two and three pounds. What was
the total weight of all six fish?
a. belween 8 and 9 pounds I, between 12 and 1R pouunds

e between 20 and 30 pounds

2. Which of these shapes has the greatest perimeter?
a. b. c d. | I

L[]

3, What is the total shaded arca of all three boxes below as a mixed number?

4, 1f 31 = -60, then n =

5: Ifﬁzs,ﬂlcllf?:
"

For Problems 6-7, use the coordinate graph to the right.

6: In which quadrant is the point (-3,-4)?

7 I which quadrant is the point (-2,217

General Bank

For Problems 8-9, use the chart to the right.
Savings and Loan

8, Jennifer wanls 1o open a bank account with $700. E";Z:is‘ Amount

What interest rate will she get for her money?
0% $20-5189

1% $200-3499

.9, What isthe minimum mmount of money that Tim will need

10 start a new account? 1.5%  [5500-34,899

2% $5 000-35,898

/0, What is 1% of $4007 3% More than $10,000

Py
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N

Below are five ways the letters 1TAT can be arranged. What is the sixth way?

HAT HTA Al ALY Tal

N

Ite=11. thene =

%

Ifa=-11, then ¢* -

©

lFor I'roblems 1=2, usc the chart to the right. Good
Numbers
,, Based on the chart, would 2,352 be 2 pood number 1,331
ol a bad nwmber? 252
2, Would 331 he a good number or a bad number? 13,531
22
For Problems 3—i, use the calendar to the right. MAY
s M ¥ W T F &8
3 Which day would be two weeks and one day NIERE
. ] 7
after the shaded one? e s e el 71519 10
. . , 11112 [ 13|14} 1516 | 17
4, Tammy's birthday is on June 2. What day of
. 1819|2021 (22|23 |24
the week will this be?
25|26 | 27| 2812930 | 31
1
S S00)-

(negative)” = posilive Circle: True  or  [alse
1 3158
/0, Which of the shaded squares is fucorrect on this subfraction _talale
problem? Cirele: A it C 1<
9
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Randy is talking to his [riend in Germany, who says the temperature there is
0° Celsius. This would be closest to what tetuperature in the United States?
a. 100°F b.-20° F € 32°F

A
2 Which two letters represent the iypotenuse of a triangle
in this ligure?
a. AD h. AB ¢, BC d. B B
For Problems 3—4, use the grid to the right.
3 Jamie is supposed to shade 25% of the squares. How many
more will she need to shade? _
4. What fraction of the grid is currently shaded?
1 b 1 [ ' 1
a o .= L d. —
3 4 “5 6

Which of these letters would look the same il was {lipped upside dowa?

R A W X

Il the number 35,673 was written backwards, would it be bigger or smaller? o

What number i3 missing in this sequence? 15 12 6

If7 < g =< 11, then o could equal

a. 8 b. & c.
5 6

Reduce: —= —_—=
10 18

t

Circle the numbers below that are divisible by 2.
438 537 246 1 25

ar
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Farmer Ed had ] sheep. All but four of them ran away. [Tow many are left? _

This star has ___
a. all acute angles
b, some acute and some obluse angles
c. all obtuse angles

What is the total area of all the shaded bexes below as a fraction? _

(-
'l inn the missing factors of 32. l 1 ‘ I 4 [ I Jﬂ
3| 4017
How many numbers in the table to the right ate pome? 7812
8 M| 9
1f-8 < a <6, then a could equal -5 0 8 -10 1

Circle the greatest amount, 10% .06

Circle all of the following nwmbers thiat are evenly divisible by 5.
20 35 40 12 10

Find the perimeter and arca of the right triangle. 8 cm
(Hint: The longest side is 16 ¢m))

Perimeter = Area=__

£

B




2. The volume of the box is 40. 10
What is the missing dimension?

3 Which of these numbers is evenly divisible by both 8 and 67

For Problems 4-7, solve cach equation for #.
4. Uan+nun+2-=10,thenn=

If-6sr = -48, then n =

o &

]f'i:E,!hcnn:“
12 36

N

It Jn=9 thenn=

[

For Problems 9-10, use the coordinate graph to the right.

a. 16 b. 48 ¢, 32 d.

What number is missing in this sequence? 2, -4, L-16,32, ..

.9, To gel from point A to peint B, you must go

and

fup or downy and (vight or lefl) ]

/o. Sandra lives hallway between A and B. Which of these

coordinales describes the location of her house?

ac{1,2) b. (3.-3) c. (-5,0)

2
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Vapessa's hens laid 80 cges wday, How many cartons holding a dezen cach can

B

she fill completely?

[[ the digits in the number 23 are reversed, what is (he ditference between the original

number and the new number?
IMx =7, then -x -

Sumimer school classes bewin al 830 and last for two and a half hours. Al what tme
do the classes end?

1E 5 = 5, then v could NOT cquai: 5 - 0 -10

Ly 12| 28|63 -
I3l in the empty boxes.

21| 82 27

1
Would the number ; be closer o 10%, 25%, or S0%7

LJse the pattern rufc 1o complete the sequence.

Mulliply by 3, then add 1 Ld, 13,40,
602+ (-3)d) - PRIV

Complele the crossword using the clues.
Across

1Li2+d= 3 4
3. One and a half doven is

Down
29 =
4. 8 dimes = cenls,

Joo
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For Problems 7-9, use the grid to the right.

o~ Mmvre 94

Il today is Sunday, three duys ago was
Ken paid $30 for @ juckel that was 50% off. What was the original price?
The answer to V28 isa___ . Cirele:  decimal  or  whole number

Ifx—-5,then -x = _

Fill in the empty boxes.

[SUR [N [N )

is
4

Which of the [oltowing are common factors for the mumbers 20 and 307
2 4 5 6 10 15 20

1f the right triangle’s dimensions are enlarged three
tinics, the new base and height would be __ unils 1o
and units.
What would the area of the enlarged triangle be?
I'he hypotenuse (the longesl side) of the enlarged
triangle would be:
a. greater than 3 b. less than 3 c. equal 1o 3
.
4+ -10= 14— (-10)= 14« (-i10) =

ey
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Il e and & are odd whoele numbers, which of the following would also be an

add whole number?

a. ub oo+ h

. 1
In the fraction E .

Ts /37 closer to 6 or 77

_{.g t 4) =

_(_2) =

1420 = 12, then i could equal

A

a. 4

Which shape Las the greuter area?

1 is called the

S in

and B is catled the o

d. 7

The cylinder has a diameter of @ inches. The ring

has an inside radius of & inches. Could the ring

slide over the cylinder?

Circle:  Yes or Ne

Circle the numbers below that are evenly divisible by 4.

48 505 408 Gon

102
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ﬂ Three menths ago, Janclle weighed 90 pounds. Tf she has gained an average of four

pounds per tronth, what does she weigh now?

2, When you divide fractions, you actually {lip the fraction and then
multiply. Circle:  first  or  second
J—
3, How many one-inch cubes can be placed in this 4 .’

four-inch cube? o

For Problems 4-5, use the chart to the right. 1 i
3 23
4 |
4, Why da these numbers have arrows drawn 4 / 15
between them? I — !
5 49 |
— =
5 Which nuniber in the first column could have 7 g
- - 9
gone in the second column® 8 64
6: M2a—-4=a+1,thena= _
ab b. 5 e 4
7 1 1 4
. — X — X —=
2 4 3
For Problems 8-14, use the diagram to the right. 2

2
& This piece of paper was 8 inches by 10 inches before
the corner was torn off. What was the area of the paper

10in.

belore the corner got torn off? . -
n.

.9. What iS\llle area of the corner (triangle} that got torn of1?
(Hint: ‘The corner was a right triangle that had two-inch legs.)

/o, Whal is the actual area of the paper without the corner? .

1
7

f03
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years did he live?

5: TF the pattern continues, whal number should -

be at the top of the steps? _ =
bottom

6: If x = -100, then -x =

2 I e = 11, thett o = .
a -2 ls. 2 e -3 4.3

+8
(?. in order (or the scale to balance. v would have to 2

/. Abraham Linceln was born ia 1809 and died in 1865, For how many

2. When vou divide fractions, you should the first fraction by the
reciprocal of the second fraction,
. add bn. subtract ¢ multiply ok divide
3
. If —x=6,thenx=
5 —

top

[48 ]

equal

For Problems 9-11), rewrite each problem using exponents.

9 s
fl 3o
/a SefeSexexspeyry=

(o)

2322

N

o4
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ARG
For Problems 1-3, use the multiplication problem te the right. 3 « 6 _
Circle True or False, 6 12
/, To simplify this problem, you can cancel the 6s (diagonally). True  or  lalse
2, ‘1o simplify this problem, you could also reduce % to % True  or  False
3 The final answer to this problem would be % True  or  False

4, ‘[bis shape is divided into
a. fourths b. thirds

c. three parts d. triangles

5 Shade the odd multiples of 7. [ 7 I 12 | 14 l 18 l 21 1 28 { 35 |

6: [lse the nummbers 1, 2, 3, and 4 to [ill in these boxes and make a correct equation.

L0000

7 . . ! ’ 3 2 2 5
. Circle the fiactions that are more than —. — = = = =
2 10 5 3 4 9
For Problems 8—10, use the diagram and chart.
. . A
& There is one road between towns A and C, as shown c
on the diapram. What i3 the distance belwesn towns
Aand C by rond?
B
.9. Saily lves in town A. On Saturday, she made a round-trip
bike ride to town B. How far did she ride?
: 8 miles
= /0. 1f the bike ride took Sally two hours, selve this B|C 4 miles

proportion Lo find ber average speed in miles per hour.

17 1_0. =5 thenx =
2
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For Problems 1-3, use the divisien preblem to the right. 1
Circle True or False. F
A To solve this problem, you shoutd rewrite itas = x — . rue  or False
g 3
Z When dividing fractions, lip the first and multiply by the second. True or  lalse
3 . 1 - ;
,  The final answer to this problem would be & True or  False
Al
For Prohlems 4-6, use the coordinate graph to the right. ¥
]
4, What is the area of the triangle? N ]
5 What is the area of the square?
A g A A3 43 h'y

6: Does the circle or the syuare have the greatest arca”

7, lf‘iﬂ':l_lhﬁliu:7
3

For Problems 810, evaluate if w = -3, 8 =-12, and ¢ = 6.




s D
o~y Mwore 100

5,000 tennis balls might fillupa _

-

a. car b. house ¢. school

2. What is the radius of this circle if the diameter is 12.6 cm? @

Ifx < 3.4, which of the following could be a value of x7?
a. 4.6 b. 2.8 cal

W

Fraction Decimal Percent

4, Complete the table.

| o

R G

3
6: fh-425=825thenh =

For Problems 7-9, use the graph to the right. Jason's Test Scores

100
7. Jason reccived the same scores on Test i
and Test . =
—_ G 90
o
. =
8, Which of these numbers weould be closest g
to Jason’s average score? 2 g
a. 93 b. 72 c. 81 g
v 7
»
9, 1f there were 50 questions on Test 1. how
many did Jason answer correctly? 80 L
. Test1 Testz Test3 Test4
=250
0 ==. (34 (- (5) =

-5

o>
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MINYTE JOYRNAL \
J A

ll..ll!llll-.IlI...i.'l.‘.‘.lll...ll..l..'J\'ﬁ'

i

ANAME

§ § « & « § iy
/ 26 &7 76
2 27 &2 77
3 28 53 78
4 29 5 79
& 30 &5 &0
[ 37 56 &7
7 32 &7 &2
1 33 58 &3
g 34 59 84
10 35 60 &5
/4 36 &7 &6
12 - 37 62 &7
/3 38 63 &8
1L 32 o4 &9
15 20 65 g0
16 a7 &6 g7/
74 42 &7 92
/8 43 68 23
19 44 69 94
20 15 70 95
27 46 2t 9¢
22 42 72 97
23 48 73 98
29 49 74 99
25 50 75 100
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N MmnyTe Anvswer Key

Mivite |
49

0.034, 340, 0.403
310

7

17

12 2. units

5

36, 63, 81

I(} 4,6,9

e R e

§
"3
N

b

275,34

710

16

20

14 units
A=5B=20,C=30
48,32, 56

!0 4,6,3

3

B N O B —

1
S

556

6

2/8,1/4
=

12

16

50 fi.

20 people
. 36,60,72
10, 16,11, 9

Mwvwre 4
41.5

g S

C

1

2

3

4 <

5 22

6. 456

T Yes

8 A

9. 6,12, 18
10 75,139, 83

MmyTE &
1. a

2. Db

110
423

5. 7 boxes

6. 18

7. Gsq. units
8 1

9. 21,19

10, 70, 161

|

2

3. ab

4 023

5. 9miles
6. D24, E28
7 634t

8. Thursday
9.

Tuesday and Friday

10. 54,45, 35

Mwyre 7
I d
200A

1 ac¢
4. 0.043
5 True

G

18 units
Desiree
Rick

10 212,43, 167

MiwiTe &

o

0 0

4/9, 4/16 or 174
4/11

16

December, January
December
29,43,124

lO 88, 170,276

Miwvure 9
20,310, 110

R

L1 R -
(2]

ks
o

6 d/3

7.

8 Red
9. 6% pounds

0. 0.72,098,2.08

Avpre 1O

B

530 egps

75 egps

10, 57,1000, 175

L
=y

e

Movore If

4323

d

h

2/8, 378, 7/8, &/8
8]

27

12 cubes
A=20RB=25C=45
. B3, 64,42

10. 15,17, 19

MwyTE 12
h
C
a
7

14 vards

2 put of 40, or 5%
30 units

30 glasses

58,83

lO 56, 63

Mwure 13
100, 2,300, ¢
C

B

26

12/25

27 boys
True

177

176, 1412, 1730
10, 30,63, 72

Awure 14
1. 4,8
2 a
3. 515
4. 10
5 9
6
7
8
9
1

W = e R N

R T NI

Lo W o —

0w N

14

aand ¢

b
2.5,3.25,205
0 56,5

Mivure 15
1. 5100

_i_

<

2

4
5 =

6 2

7. 20N

8 5

9 125,150, 350
100 31, 102

MveTe 16

541

L
[ =T = B v ]

45 ft
Class 2
5 more pirls

10 1.2, 13.05, 3.5

MvTE 17
$2.67

NS

3Qor 143
Jared

e N
jev)

Jackie
10. 250, 125,250

MmuTe 18
a

d

5.60, 5.06,0.56 0056
26, 319
No

A

25

52

S 28,2529
10. 5,9, 11

MeviTe 19
I b

: J

415

172

less

4

40

7,200

63, 150, 36
10 7,73

Mivyre 20
h

a

635

5 people
4 people
3 people
7

1
75,112,229
0. 30,12.70

9 mE O A

[N R )

o ow o

R N

el
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Mwvore 21
a

b

20

124

2

Add 5, subtract 1
11 s¢. unis
5

. 614

10. 3,301

Mmvvre 22
4:48

E

3

4/35

64
Adding the tirst two
30 cm

13

46,3
10. 102, 224

Mmre 23
1,000, 2,000, 3,000
H
3
3

i

2

3

4

5017
6 40,60
7

8

g

|

R N

L A T

kol

5
22
. 54,72, 81
0. 36,48, 35
Mot 24
$2.70
a
b
57
21
G
9 feet
10
9. 860,930
10, 2,500, 3,600

MmwyTe 25
b3

¢

[

11/70r 1477
& aides

48 inches

18

2,2
6,9

N

(Rl

T IR I NV AW

0

Mivure Auswer Key

"‘.lll...“...lI..ll'...ll.‘....‘...
v o

MveTe 26

D e s W

10.

14

b

b

13/2

50

A

4.5 sq. units
56

60, 500
15,087

Miwvyre 27

R N

9
16

3 quarters, 1 dime, 2 pennies
C

1112

16

2

4,2

8 sq. units

24 eggs

8,121

6,239

Miwure 28

R N R

10.

36 cookies
c

523

3

+

a

42

3 siudents
By
12,284

Mivvie 29

1
2
3
4
)
6
7

9.
10.

Tuesday

¢

25/3

x

W

7 5q. units

1.9, 17
40,20, 0

Mivvre 30

L.
2,
3
4
5
6
7
8§
9
1

0.

6th ol June
i3

4127

35

65

48

22 units

8

1720, 2/21, 3/40

Mivyre 37
Wednesday
a

75

3/4
circle

5

3,8

2/5
365,270
. 309,247

Mute 32
Yes

b

3/5
0%
10%
circle

6

20
2

10, 3/5, 2125

MiveTe 33
10 weeks
9 quarters
50 inches
a

o

Sally
triangle
12

.8

10. 40

Mivure 34

I. a

M ae =] DN W da Lt —

=

D MO B W —

R

=)

thombus = b, square = ¢,
quadrilateral = a (also b, ¢)
39%

tHl more boxes

2

5,694,600

[

15

. 23.6, 34, 460

10. 20,25

MiiTe 35
I, ¢
2. d
3 75%
4. n
5. 95%
6 8
4
$
9
1

RR R - ST W)

6
b
. 28,42, 60
0. #/9,23,0

L T
e

/35
9. 8
10. 13, 40 and 16, 63

Mivyre 32

. a

Line = b, Segment = a,

Ray = ¢

174

d

c

15

a

b

9. Apnl

10. 5.62,42.6,0.58

Mivvre 38
¢

d

712

15/48

10%

40 squares

6

Justine

. 49, 64, 36

10. 10,10, 10

Mivire 39
d
5.8, i0
Q.55
a
a
The 1 should be an 8.
" She found the area.
9
. 24
10, 15

MvyTE 40
c
14/20 = 7110
0.61
47%
29

5

7

33
0.06

. 300

"

R S

ol

ol

S R e

SOE N e~

=

N0
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MvuTE dF
1,249

B

A

0,75, 75% and 1/10, 10%
10

2

4

a

C

0 d

Mivure 42
1. b

233

3 50%

4. 1/4,0.25 and 310, 30%
58I

6. 32
7
8
9
!

[FSR .

= 0 0 NS e

d

18

142, 3/64

0. 200, 150, 80

Mmvure 43
I. a

2. Acute, Right, Obtuse
3 d

4. 13

5. ‘carpet

6. inches

7. 2

g 15,90

9. 10,6

10. 38

MwvuTe 44
C

& faces
17

50%

3

b

a

R N

¢
3,119 or 1 2/9
IO 19/2, 41/4

MivyTe 45
1. 10 cans
2. 7 faces

3 082

4 035

5 1¢

& DDDD

7. Grade 4

8  Grade s

9 0.111,0151
1010, 100, 1,000

MivyTe 46
6,54321
7 unils
.39
30
55%
25
7

=12, B=27.C=
g, IfS 1/100
10. 0.3,028

MwyTE 47
1,234.56

3

35

seventeen hundredths
0.7 or X
45%

30%

c

98, 98 980
10 5%, 15%, 85%

MivuTe 48
d

Yes

09

0.7

i

0.6

90

106
42,90, 45
10, 200/10, 0.16 < 100

Mwvure 49
50 mph
Yes

07

I T

Rl R A i

o

e el

[ R S

6

6

3

EG

2410, 4/20
10 14, 363, 38

Mwvgre S50
40 cartons
8 fuces

CIETIER

1.
2
3
4
5
6. 7.1,2
7
8
9
1

04,210

2/5,0.4 and 0.25, 25%

e Mimvyre Anvswer Key

v’j[‘--l.-n-a-o--o-lo--ooln-ol-o--o--o-
.

Mvure 51
Toanne:' 10, Jackie: 12
180 degrees
0.3%

4,58
0. 163, 2013, 13/4

Mwure 52

b

40

0.95,95%, or 147,
5

CBA

124

5

25

[

10. 18 mm’, 18 mn

Mmwyre 53
165 miles
180

03

G

24

.

clear

10 dimes
39,47, 68
IO 36, 30

MivyTe 5
%44

10 3q units
[

54

outside

5

340Gy <448
325

(o1

10 15, 15,15

Mwure 55
5,650 and 6,000
24 5q. units
3.06, 2.068

g+ 8=064

R

178

3, 17,29

I L R S
Zz
=]

B T B o —

b —

0o

DN R

[

RN
1

Miwyte 56
1. h

2. May 13

3 B3=24C=28A=121
4  Sand 23

5 02Us

6. b

7 ¢

§ d

9 a
10. b
Mivvre 57
12 pounds
9

6

32

3/5

d

c

3,701, 9
9 316

10. 4 or-4

Mivyre 58
10 combinations
st
35’
100

28

N5/

18 people
12,2
7430

IO 4/5,3/25

MuyTe 59
23

S pavchecks
20 units
6

10/17

¢

3 squares
14

36

0 1

MmwuTe 60
H
112

3

R e

[E SO I =

o

< @

=R MNP B

a

13

27 gitls
27

— O 20w Oy h R oW pd —
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Mmote 67
130, 3,000, 488
& cubes

4

5

V10 or 10%
3,384

50

1

Band &

iO 4,3,1

Mivvle 62
c

b
+

B A W

|

2

3

4. False

5 17

6 G

7. 354

8 1445

9. 327,3.27,0.0327
10. 46, 14

Mwwte 63
2,3,6

(4,4)
3e3e3=27
NET

[+

81

12 units
Saturday
Tuesday and Wednesday
-24, 30, -56

MmiTE 64
b

4,3)
1123
4,12

31

2

0.03
1,000
3,-5,-3
16, 64, -45, -63

Mivure 65

1. Prime = ¢, Faclors = a,
Muitiples = b

2. 3 units

3¢

4 2

5. 16

)

7

-0t MO Lo —

=

e N O e h

5

53
8 1 month
9. (-5)-5)
10. -13,9

Mwvyre 66

=i Al L

N TR

1()

Improper = ¢, Mixed = b,
Reciprocal = a

36 units

122

100

1,2,4,8

5/8

48
61/2

Mivyre 63

L.
2.
3

Lok

10

a
[

Multiples of 7: 14, 21, 28
Factors 01 24: 3,2, 4.6, 8
True

False

True

-6, -5,0, 4, 10

2 and 6

3, -1

-1,278, -171

Mwvyre 70

1
2
3
4.
5
6
7

8.
9.
1

0.

14
9

16
a=35=100
%3

4

-10

B

-30

118, 314

Mivure Quswer Key

“wo.lo...q-.-l-uoooo-lol.aoonlo.ll..

Mwvvie Pt
1.
2,

w

=

9

10.

o N o

a

Equilateral = b, Scalene = c,

Isgsceles =a

4 hops

Multiples of 5. 10, 20, 25
Factors of 18: 3.2, 6

A

d

[

173, 5412, 1/5

56, ~40, .32

-13,-12,2

Mwyre 72

b e I

3Cand 15

25 8q. units
1/20,0.05

3/8

a

5

8/5

6

21/3, 2815, 19/10

m 29, -(8/35)
Mwvure 73

D e A

No

18 sq. units
Blue

716

4. 14

30

27

{5.2)

7

10, All of them
Mivure P4

= X ®

Mg s

0.

52
48 cubic units
20

MwvuTE 285

9

N BN —

16, 16

45 cubic units
0.65 or 65%
6

121

4

8/3

(2,3)

(-2,-3)

10. 5,-15,-8, 18

MineTe 26
1,700

9 sq. units
1.5, 150%
Tile A

0

25

2

(-2.3)

6 units

lU b

Rl I Al

2
3

4. 94, 1117

5. 34

6. 6

7. §

8. 126

9. 612,18

10. 13.86, 0.1386, 0.01386

MvvTe 78
$29.30

d

94 o0r 2 1/4
204

iy

<

. 22967
10. 1,967
MivuTE 79

3 yards
914

B O

b

2 sections

. 4 sections

10, -6,-27,-12, -3

MivoTE 80
[+

24 units

C

a

d

b

tost money
made money
2,6, 10
09

Moo o B —
F- B e B =

MO s e =

= X =

744
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Muyte 8f

112 pages

b,a ¢

b,c, a

False

True

False

True

Factors of 15: 3, 15
Factors of 40: 8, 10, 2
9 Yes

10, 7410, 3450, 350

Mwvvre 82
24359
True
True
Faise

1

N T e b =

oo —

D=3

Cs, As

No

9. Areal: 16 cm’
Perimeter I 16 cm

&~

Area 2 64 1t
Perimeter 2; 32 fi,
v 2,624
Muwvyre 83
1. 8degrees
2 10 taces
i
4. 1,2,3,4,6,12
5 1,2,3,6,9,18
6 &
7 a
8. 1 hour 30 minutes
9. 40, 36, 80
10. 5,23, 29
Mwvure 84
I, dcircles
. >
3. =
4 =
57 =
6 ¢
7010
8 Yes
9 4,86
10, -24 80,-16, 5
MwvTE 85

I. 1 hour 16 minutes
2. Quadrant 2
3. Quadrant 4
4, 1/5
W3
obtuse angle
9

Naomi

- - )

A=4,B-10,C=12,

9. 4,75
10. 2,140

Miryre 86
b

b

[

a
False
True
False
False
64
IO -60

Mvyre £7
8§37

58

3.00

2

60%

d

ia

b

C

m 1.-3,3.6, 3.6

MwiTE 88

o

S

Quadrant 3
Quadrant 2
15%

$20

IO 54

Mwore 89

t. wood (first and last
digits are 2)

bad (first digit is rot 1)
Wednesday
Monday

3

THA

121

121

True

0 B

Mivyre 90
l. ¢
2.d
3. 3 squares
4. d

50 X

6. bipeer
7

8

9

l

R R T I
[ 3]

e

-—\Dpu-d

9

i

142,173
0. 438, 246

Mivyre Avswer Key

A R R R I I I I I I I T Y

Mivvre 9/

4 sheep

[

3 1/4

81

2,8 16

4

<5,0,1

179

20, 35,40, 10
10 Perimeter = 24 cm, Area =
Mwvore 92

173
2

B D e B by —

S - E A NN
o 90 Lh oo LT

up and right
IU a

Mivyte 33
6 carons
9
-7
11:00
3
36,72
250,
121
0,-1
. Across: 1. 48,3 1§
Dawn' 2. 81, 4. 80

Mivyre 94
Thursday
560
decimul

5

1t/5, 4415
2,5, 10
9,6

27 sq. units
a

IO 4,24, -140
Mwore 95
a
numerator, denominator
[

-1

4

2

d

square

Yes

H) 48, 408, 600
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e —
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AMnvTe 96

1. 102 pounds

2. second

3. 64

4, The second-columa

numbers are the squares of
the first-column numbers.
4

b

1/6

80 sq. inches

2 sq. inches

10. 78 sq. inches

Mmute 97
50 years

c

12

5

15

100

¢

20

34 . 22

lO 5 extey’
Mivute 28
True

True

False

c

7.21,35
2+ 3=4+ 1 (order may
vary)

7. 35,203, 519
8 12 miles

9. 16 miles

10. 8 miles per hour

Miwvre 99
True
False
True

6 $q. units
9 sq. wnits
square

3

-3

30

Minote 100
l. a
2 63cm
i b

4. 0.6, 60%
5 1
6

7

8

9.

1

O g B
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R
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8]

12.5
1 and 4
Cc

40 guestions
0. 50, -2




